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TDD Demand & FeasibilityTDD Demand & Feasibility

• Currently, only few parts of China deployedCurrently, only few parts of China deployed 
DOCSIS systems
– In the places DOCSIS systems deployed, HFC networks have 

b fi i h d th bidi ti l t k t f tibeen finished the bidirectional network transformation
– Under 1GHz, It is easier to handle distraction issue when co-

existence with legacy technology via FDD 

Ab 1GH TDD i i l d fl ibl• Above 1GHz, TDD is simple and flexible
– Spectrum above 1GHz would be the most proper band for EPoC
– There is no approved spectrum plan above 1GHz
– There is no available amplification above 1GHz

• In most EoC deployed places of China, guard 
band is required for FDDband is required for FDD



Static Bandwidth Allocation in TDDStatic Bandwidth Allocation in TDD

• There is no difference between TDD and FDD when using g
static US/DS bandwidth allocation (e.g., 1:1 or 1:n) in 
TDD mode, except the data container in TDD is time and 
the other is frequencyq y

• The full-duplex MAC operation is maintained
• Both TDD and FDD can be supported in a single PHY

– Only one more PLL is needed in TDD than FDD
– The peak data rate of TDD is twice as FDD
– Transmission in downstream is discontinuous, but it is different 

from burst mode in upstream
• The upstream allocation would not be consecutive• The upstream allocation would not be consecutive
• Additional delay is inevitable, but controllable
• Multiple carrier FDD requires buffers as well

– Parallel to serial is needed during frequency to time conversionParallel to serial is needed during frequency to time conversion, 
and vice versa

– Framing structures between fiber and coax are also different
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EPoC Deployment ArchitectureEPoC Deployment Architecture
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